e e _“_‘__“)
L § ' . e .
winss - 0f 10 Cr” s Sliven T8 103 gm. flod ;-
W;ﬂa__jgf__.ﬁjym,.!n_ﬁk%lmz.mh_ b e &

.:‘_‘
|’

.

e g e |




o INUMERCAL T
! . : btlew GShows 0 body -Hocqu "h

4 ¢ at difeunt jwels,

| diperant, liquids A, B an
| |

|

{

N ¥ - [ ' o
R Jr_ ¥ : | ;Jr L e
| . . d _J | g - ._—‘ L ......... _“l
. abigwd A - Ligwd g : -lqu"d' (

‘) ﬁv‘wh}’cu“ Uy sl dows: dhe - booly -expukt - the Quutegyy
’buagant Joreed Vi piod sen_go TALIS Dot

A’)Bao(‘anf Jonee §8 Aame n each cose o the we'%m Ofﬂn
“”'3 is Samein. cath rcase. ond buoyant o4 S ‘e qual

™

§-lhc uouﬂm of 4he \Tquid diplaced by -t immeded
P 0F the | body whith balgnces o 4heo wu%h'l of the bod.b.

B

..é b Ly i T s MR T s 2ink \ CRA ""‘ "' $
rb)«'-kach nfo,'u‘;d hews the Lot 'dm.S‘f-hd? 2 At Yiaha
L‘i’q,wd A hos dhe tleant olwaaha 0 booud nro esdes the

;mﬂmmumor BEUH ST A I VI 3] OB anery
; 2
!
J'

3 L ] \v » .

el e il B N N B i il e S e B

¢) | Nhich l\obwd hew the hn%hu-t dm.hﬁn?

vooBr Ltq,wd € hos dhe eaahigh st dersity . assthe:
booha tmmesisos dhe leaste s o0 p o

[ ... ¥y " ~'..- e
C , : c
2y f e density ' o4 weder: s l 0 g e s . The eendty

o\m.sma of Ton s 3,8 q v, e d‘”‘m"b ol mlHCuﬁ"d
13. 69 tm "%, Answer




Will o piece of Pron float L&tk o wodtie ?
Float

ink

A piece of wood of mass 6o g hoas o ydluwme of

200 cm>e Find  4he density of Loood fa CGS and S st

Mass _of woods= !50%

\o\wme ©f wpod= 200 cm >

.'Dmﬁ'hé: m

vV

=n-'4.ﬁ_% (in__ 6685  1unit .Std(hm)

Y S1 unit Jndﬁtm 20. 35 X100
= 150 kg lw2




